Anx B - Work Completion Report

Company	M C Modi Educational Trust		Name of contractor	T.Kurmanna	TO BE STATE	SI. No. site	hills rea	471.	
Project/site	MCMET		Nature of work	Granite shifti					
Block no.	CA		Work done from date	15-07-2025	ng	Dt. site bills		01-08-2025	
WO no.			Work done to date			M-codex bi			
WO date			Contractor bill no.	25-07-2025		WO issued			
Sl. No.	Unit/floor no					GST bill rec	The same of the sa		
1	MCMET		Details of work		Qty	Units	Rate ID	Rate	Amount
2	1st floor ramp, landing	granite shifting			700 71				
3	2nd floor ramp,landing	granite shifting			789.71	-	TF231,TF235	2.25	1,777
4	3rd floor ramp,landing				789,71	-	TF231,TF235	2.75	2,172
5		granite shifting			789.71	sft	TF231,TF235	3.25	2,567
	4th floor ramp,landing	granite shifting			789.71	sft	TF231,TF235	3.75	2,961
6	North east staircase terrace floor	Landing granite shifting			190.40	sft	TF231,TF235	4.25	809
,	South east staircase terrace floor	Landing granite shifting			190.40	sft	TF231,TF235	4.25	809
8									
9				The section					
10									
Remarks:					T	tal amount	including taxes	or work done	11,095

Approved by Proved by QS team Approved by QS team Sign: Sign:	Remarks:		2 months and 11
Sign: Sign:	Approved by project manager	Approved by QS team	Approved by Director/E&D team
Date: / A IVIO B - B.	Sign:	Sign:	
Note: This short replie Will fly on proof and obvious for goods to construct a 2.72	Date / // // B)	Date:	Date:

Company Name: Project;		Manilal Modi Memorial		Approved by: Sign:		Sai kumar Reddy				
		MCMET				377 277				
Work De	escription :	Granite shifting		- The state of the		15-07-2025				
Contract		Kurmanna		Work en		25-07-202	THE RESERVE OF THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS NAMED IN COLUMN TW			
Prepared	d By:	K.Praveen		Date:		01-08-202	AND DESCRIPTION OF THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS NAMED IN COLUMN			
			A			D E=AxBxCxD		F	G= Sum of F	
S No.	Item Head	Item Description	Length	Width	Height	No's	Quantity	units	Item Read Total	
	MCMET									
1	1st floor ramp	granite shifting	46.00	6.83	1.00	2.00	628.36	sft		
	landing	granite shifting	14.50	7.83	1,00	1.00	113,54	sft		
									741.90	
2	2nd floor ramp	granite shifting	46.00	6.83	1.00	2.00	628.36	sfit		
	landing	granite shifting	14.50	7.83	1.00	1.00	113.54	sft		
									741.91	
2	3 3rd floor ramp	granite shifting	46.00	6.83	1.00	2.00	628.36	sft		
	landing	granite shifting	14.50	7.83	1.00	1.00	113.54	sft		
				- 1919					741.90	
4	4 4th floor ramp	granite shifting	46,00	6.83	1.00	2.00	628.36	sft		
	landing	granite shifting	14.50	7.83	1.00	1.00	113.54	sft		
									741.90	
THE RESERVE AND ADDRESS OF THE PARTY OF THE	North east staircase terrace floor	Landing granite shifting	17.00	-	1.00	2.00	190.40	sft		
(South east staircase terrace floor	Landing granite shifting	17.00	5.60	1.00	2.00	190.40	sft		
									380.80	

					Approved	By	
Manilal Modi Memorial							
MCMET							
Granite shifting							
Praveen.K							
01-08-2025							
Item Head	Item Description	Quantity	Units	Rate	Amount	Item Head Total	Remarks
MCMET					ramount	Atem Head Total	Kemai K.
1st floor ramp	granite shifting	789.71	sft	2.25	1776.84		
	granite shifting	789.71	sft	2.75			
3rd floor ramp	granite shifting	789.71	sft				
	granite shifting	789.71	sft				
	Landing granite shifting	190,40	sft				
South east staircase terrace floor	Landing granite shifting						
						11,094.86	
3	MCMET Granite shifting Praveen.K 01-08-2025 Item Head MCMET	MCMET Granite shifting Praveen.K 01-08-2025 Item Head MCMET Ist floor ramp granite shifting 2 2nd floor ramp granite shifting granite shifting granite shifting Hth floor ramp granite shifting Landing granite shifting Landing granite shifting	MCMET Granite shifting Praveen.K 01-08-2025 Item Head Item Description MCMET Ist floor ramp granite shifting 789.71 2nd floor ramp granite shifting 789.71 3rd floor ramp granite shifting 789.71 4th floor ramp granite shifting 789.71 North east staircase terrace floor Landing granite shifting 190.40	MCMET Granite shifting Praveen.K 01-08-2025 Item Head Item Description Quantity Units MCMET 1st floor ramp granite shifting 789.71 sft 2nd floor ramp granite shifting 789.71 sft 3rd floor ramp granite shifting 789.71 sft 4th floor ramp granite shifting 789.71 sft North east staircase terrace floor Landing granite shifting 190.40 sft	MCMET Granite shifting Praveen.K 01-08-2025 Item Head Item Description Quantity Units Rate MCMET I 1st floor ramp granite shifting 789.71 sft 2.25 2nd floor ramp granite shifting 789.71 sft 2.75 3rd floor ramp granite shifting 789.71 sft 3.25 4th floor ramp granite shifting 789.71 sft 3.75 North east staircase terrace floor Landing granite shifting 190.40 sft 4.25	Manilal Modi Memorial MCMET Granite shifting Praveen.K 01-08-2025 Item Head MCMET Ist floor ramp granite shifting 2nd floor ramp granite shifting granite shifting 789.71 sft 2.25 1776.84 2nd floor ramp granite shifting 789.71 sft 2.75 2171.69 3rd floor ramp granite shifting 789.71 sft 3.25 2566.54 4th floor ramp granite shifting 789.71 sft 3.25 2566.54 And the floor ramp granite shifting 789.71 sft 3.25 2566.54 And the floor ramp granite shifting 789.71 sft 3.75 2961.39 North east staircase terrace floor Landing granite shifting 190.40 sft 4.25 809.20	MCMET Granite shifting Praveen.K 01-08-2025 Item Head Item Description Quantity Units Rate Amount Item Head Total MCMET Ist floor ramp granite shifting 789.71 sft 2.25 1776.84 2 2nd floor ramp granite shifting 789.71 sft 2.75 2171.69 3 3rd floor ramp granite shifting 789.71 sft 3.25 2566.54 4 4th floor ramp granite shifting 789.71 sft 3.75 2961.39 5 North east staircase terrace floor Landing granite shifting 190.40 sft 4.25 809.20 South east staircase terrace floor Landing granite shifting 190.40 sft 4.25 809.20

Labour Charges T.Kurmanna MUHARPALLY Hyderabad

Date: 01-08-2025

In favor of:

MRGV

Project/Site:

BRGV

Location:

MUHARPALLY

Type of Work:

Painting

Towards:

Labour Charges

S.No.		Discription	Amount
1	Breif discription of wor	4,438.00	
	Total amount:	11,095.00	

Amount in words: Four thousand four hundred thirty eight rupees only /-

Sign:			
DIEII.			

Allowance For Consumables T.Kurmanna MUHARPALLY Hyderabad

Date: 01-08-2025

In favor of:

MRGV

Project/Site:

BRGV

Location:

MUHARPALLY

Type of Work:

Painting

Towards

Allowance For Consumables

S.No.	Discription		Amount
1	Breif discription of wo	2,219,00	
	Total amount:	11,095.00	

Amount in Word: Two thousand two hundred nineteen rupees only /-

Sign:			
DIEIL.			

Allowance For Equipment T.Kurmanna MUHARPALLY Hyderabad

Date: 01-08-2025

In favor of:

M C Modi Educational Trust

Project/Site:

MCMET

Location:

MUHARPALLY

Type of Work:

Painting

Towards:

Allowance For Equipment

S.No.		Discription	Amount
1	Breif discription of work:	4,438.00	
	Total amount:	11,095.00	

Amount in Word: Four thousand four hundred thirty eight rupees only /-

Sign:	
	CONTRACTOR DE L'ANGELIER CONTRACTOR DE L'ANGELIER DE L'ANGELIER DE L'ANGELIER DE L'ANGELIER DE L'ANGELIER DE L